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FIRER R A 7.20
TREXRE A 4.80
BHgEEE | E e h Y B | as0  |miEm-. A
bov o (OL—UEEBM) EiR [ R—XhTyv10t BEEN29t| B 2.40 Hiffik-2, 85
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gfmi%ﬁj): B=4.0 m3 30
GEARR) B<2.5 m3 20
EELT
PRAR & m3 0
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R T
153 haliEeE EhREEE ERREEY. HLIVEL
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ER F19EH=0.64m m 13.6
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BEER 7T R
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(m2) (m2) (m3) (m2) (m2) (m3) (m2) (m2) (m3) (m2) (m2) (m3)
No.0+10.00 — — — — — — — — -
No.1 10.00 0.00 0.0 0.00 0.0 0.00 0.0 48 2.40 24.0
No.1+4.48 4.48 0.00 0.0 0.00 0.0 0.00 0.0 3.2 4.00 17.9
No.1+10.00 5.52 0.00 0.0 0.00 0.0 0.00 0.0 2.8 3.00 16.6
No.2 10.00 0.00 0.0 0.00 0.0 0.00 0.0 3.8 3.30 33.0
No.2+10.00 10.00 0.00 0.0 0.00 0.0 0.00 0.0 3.2 3.50 35.0
No.3 10.00 0.00 0.0 0.00 0.0 0.00 0.0 1.9 2.55 25.5
No.3+10.00 10.00 0.00 0.0 0.00 0.0 0.00 0.0 3.7 2.80 28.0
a & 60.00 0.00 0.0 0.0 180.0
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A3 18.70+16. 08 =34. 78 34. 8 m3
EARRK A+ V1 =1/2%(2.2+0.0)*11. 00 =12. 10
B<2.5 V2 =1/2%(0. 0+0. 5)*13.40 = 3.35

A3 12.10+43.35 =15.45 15.5 m3
PRI

V1 =1/2%(4. 0+0.9)*11. 00 =26. 95
+wp V2 =1/2%(0. 9+1. 6)*13. 40 =16. 75

A3 26.95+16. 75 =43.70

43.7 m3

MR

V1 =1/2%(0. 0+0. 5)*11. 00 =2. 75
Wi1<1.0 V2 =1/2%(0. 5+0. 5)*13. 40 =6. 70

A3F 2.7546.70 =9. 45

9.5 m3

Moy 27U — |k

V =1.9%6. 70 =12.73
o ck=18N/mm2 12.7 m3
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FE B 35 EE SR
7 a7 o 35 R
X 4y EyUHERE. S EH=2. 33m, JERELA A Y _
I 5 E " =
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RBE LY X
Va{HI e RE
Al =1/2%(1.20+1. 25)*1. 30 =1.59
A2 =1/2%(1.25+2. 40)*0. 60 =1. 10
A3 =1/2% (2. 40+2. 30) *1. 20 =2. 82
A4 =1/2% (2. 30+3. 25)*0. 50 =1. 39
A5 =1/2%(3.25+3. 10)*1. 20 =3. 81
A6 =1/2%(2.55+2. 30)*1. 50 =3.64
/B =1.59+1. 10+2. 82+1. 39+3. 81+3. 64
TR R
Al =1/2%(1.35+1.20)*1. 50 =1.91
A2 =1/2%(1.20+2. 45)*0. 50 =0. 91
A3 =1/2% (2. 45+2. 30)*1. 50 =3. 56
A4 =1/2% (2. 30+3. 25)*0. 50 =1. 39
A5 =1/2%(3.25+3. 10)*1. 22 =3. 87
A6 =1/2% (3. 05+2. 80)*1. 50 =4.39
/NEF O =1.9140. 91+3. 56+1. 39+3. 87+4. 39
A3 =14.35+16. 03 =30. 38
SEEE S H =30. 38/ (4. 80+1. 50+5. 22+1
L. =4.80+1.50+5. 22+1. 50 =13. 02
13.0 m
a7 J—F
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o ck=18N/mm2 V1=1/2% (0. 30+1. 23) *2. 33%10. 00 =17. 82
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4.2 m
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A3 =1/2%(0. 40+0. 30) *2. 57 =0. 90
/NEF S =1.40+1. 39+0. 90=3. 69
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Al =1/2%(1.15+0.90)*1. 68 =1.72

A2 =1/2%(0. 90+0. 60) *2. 53 =1. 90

A3 =1/2%(0. 60+0. 50) *2. 57 =1. 41
/NEE =1, 72+1.90+1. 41 =5.03

&3 =3.69+5.03 =8. 72

SR E & H=8.72/(6.80+6.78) =0. 64

L =6.80+6. 78 =13. 58
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ary7U—h
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o ck=18N/mm2 V1=(1/2%(0. 300+0. 525) *0. 75+1/2% (0. 335
+0. 435) *1. 325) *10. 00 =8. 195
V =8.195%9. 08/10. 00 =7. 441
7.44 m3
Tl e
10. 00m*4 V) %5 &
EAAEIEY) A1=(2. 075%1. 0440+0. 75)*10. 0 =29. 16
A =29.16%9. 08/10. 00 =26. 48
26.5 m2
A
10. 00m*4 V) %5 &:
RC-40 t =15cm A1=0. 535%10. 00 =5. 35
A =5.35%9. 08/10. 00 =4. 86
4.9 m2
KK E AT
10. 00m*4 V) %5 &:
VP ¢ 65 L1=8.195/3.00 =2.73
L =2.73%9.08/10. 00 =2. 48
2.5 m
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0.7
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RC-40 t =15cm A1=0. 420%10. 00 =4. 20
A =4.20%9.10/10. 00 =3. 82
3.8 m2
K& AT
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VP ¢ 65 L1=6. 025/3. 00 =2. 01
L =2.01%9. 10/10. 00 =1.83
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H s
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*0. 20) *10. 00 =6. 16
V =6. 16%56. 10/10. 00
34.56 m3
Tl e
10. Om¥4 V) # &
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A =24.24%56. 1/10. 00
136.0 m2
A
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104.9 m2
B Hkt
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